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Section : Section A

Q1 haGe p-n junction at 300 K, Np=5 = 1013 cm=; Na =6 x 10%cm3; nj= 1.5 =

1019 cm=3. What is the minority electron density?
Ans X' A 4250 e/cm?

«" B. 3750 e/cm®

X C. 5000 e/cm®

X D. 2500 e/cm®

Question ID : 630680214297
Status : Answered
Chosen Option : B

?2 " Find the transfer function for the given RL circuit.
— AN T

A 20) SH

30 T
Wi Vo

6H 4H
v
Ans 3+ 25

A 7(s+5/5)

95+ 3
75+ 5

X B.

. 2+3S
XC'S+?f5

F e
S+5/,

Question ID : 630680117127
Status : Answered
Chosen Option : A
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Q.3 A Schmitt trigger has an upper trigger point as 2.5V and the lower trigger point as 1.5V.
Calculate the hysteresis voltage.

Ans X A 15V
X B.25V
X C.4V

D1V

Question ID : 630680118580
Status : Answered
Chosen Option: C

Q4 For the following parallel R1.C circuit, the driving point impedance is given by
0.45

Z(8)= $2+0.25+1

I
I
-
m

Z(s
(s) iH 10

The values of R, L and C are respectively:
Ans A L=04H R=2Q,C=25F

& B.L=25H,R=2Q,C=05F

K C.L=2H,R=05Q,C=25F

X D.L=25HR=05Q,C=04F

Question ID : 630680146539
Status : Answered
Chosen Option : A

Q.5 In the design of a control system, the excess bandwidth should be avoided since:
Ans X A.itleads to sluggish response of the system

X B. the relative stability of the system decreases
/5 C.itleads to fast response of the system

«” D. the noise can affect the system’s performance

Question ID : 630680139577
Status : Not Answered
Chosen Option : --

Q.6 What should come in place of the question mark (?) in the given series?

23, 35,47,59,71,?
Ans X A. 82
X B. 81
& C.83

X D.84

Question ID : 630680531729
Status : Answered
Chosen Option: C
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Q.7 The forward path and feedback transfer functions of a control system are given as
G(s) and H(s) respectively. The polar plot of a system is the magnitude and phase plot
in polar coordinates for:

Ans X A (1+ GGw)H(w))
v B Gw)H(jw)
X c GGw)/(1+ G(jw))
X 0. GGw)/(1+ GGw)H(w))

Question ID : 630680139580
Status : Answered
Chosen Option : D

Qs Rajesh ranked 44 from the top and 25t from the bottom in his class. How many
students are there in his class?

Ans X A.66

o+ B.68
X C.69

X D.67

Question ID : 630680729454
Status : Answered
Chosen Option : B

Q.9 Mr. Mohan buys a chair at ¥1,020 after getting two successive discounts of 20% and
x%, respectively, on the marked price. If the marked price of the chair is ¥1,500, then
the value of x is:

Ans X A.10
o B.15
X C.12
X D.18

Question ID : 630680227089
Status : Answered
Chosen Option : B
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Q10 1p the given circuit, an input wave of 15sinomt is applied. What would be the
transfer characteristics of the given circuit, given that the cut-in voltage of the

diodes is 0.7V?

R
VW o
u ev 4V ¥
| I
Ans 1
' !
5 6.7V
i .
A -4.7V" g
! V6.7v
[ | ]
|
’ |
: 1
Vo
]
|

Vo

4.7V

P
]
=

<
-—--ll-_

Question ID : 630680119957
Status : Answered
Chosen Option : A
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ar Find Iy in the given figure using source transformation.
| 20}
> NN
3 Ix
-
-+
0V T 50 =

Ans X A.05A

X B.1A
o C.2A
X D.4A

Question ID : 630680117102
Status : Answered
Chosen Option: C

Q.12 Sarojini Naidu became the second woman to preside over the Indian National
Congress at the Kanpur Session in:

Ans X A.1920
o B. 1925
< C.1930
X D.1915

Question ID : 630680777731
Status : Answered
Chosen Option : B

Q.13 The outputs of a full adder and a full subtractor are
Ans X A AB+BC+CA

4" B. same
/X C. different

X D. complements of each other

Question ID : 630680103575
Status : Answered
Chosen Option : B

Q.14 Complete the sentence with the appropriate word.

Shahid and Junaid watched an IPL match yesterday.
Ans X A. Excitement

X B. Excitedly
< C. Excited
" D. Exciting

Question ID : 630680777704
Status : Answered
Chosen Option : A
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Q15 Estimate the gain in the following circuit. Consider Vgg= 0.7 V and p = 100.

+Vee=15V

zag Ql Q;@_

Ans X A.176.7
X B.193.47
X C.201.8
o D. 1986

Question ID : 630680390634

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.16 An open drain CMOS circuit is analogous to which of the following options?
Ans X A. Open base TTL

+#" B. Open collector TTL
/< C. Open emitter TTL

< D. Open emitter TTL and open base TTL

Question ID : 630680121087

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q17 Consider an angle modulated signal represented by
%(t) = 5 cos (2m X 10°t + 20 sin(4m X 10%*t)) . The maximum phase
deviation from the carrier phase is (carrier frequency is 10° Hz):

Ans X A.5rad

X B.10rad
/X C.40rad
" D. 20 rad

Question ID : 630680146381
Status : Answered
Chosen Option : D
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Q.18 For the given specifications of a Schottky TTL logic gate, what is the fan-out?
a) Maximum output low state current of 10 milli Ampere
b) Maximum output high state current of 0.5 milli Ampere
c) Maximum input low state current of 1 milli Ampere
d) Maximum input high state current of 20 micro Ampere.

Ans X A.0.04
X B.25
X C.01
« D.10
Question ID : 630680132901
Status : Not Answered
Chosen Option : --
Q.19 — - i
If A is the vector field, then ¢ A.dl is equal to:
Ans

xA $(VXA)ds
B HS(? xA).ds
xc [(V.A).dv

xo. §(V.A)dl

Question ID : 63068063920
Status : Answered
Chosen Option : B

Ans

Q.20 1873 ¥, SfeRTa MdeRma Fa A B oA B, NPT ILRT TUTH A g 3R
s oof & @ & fore ITIfSTe =ama &Y /it &A1 AT

X A HHw iR
o B. RS AT
X C. 5@ g

X D. 3 gA

Question ID : 630680777729
Status : Answered
Chosen Option : B

Q.21

Ans

The power in the signal s(t) = 14cos (100111: - g) + 10sin(30nt) isequalto
% A 150.34
X B.149.32
o C. 148
X D.48

Question ID : 630680211452
Status : Answered
Chosen Option : C
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Q.22 Complete the sentence with the appropriate word.

Ans X A.from
/5 B.since
X C.on
" D. for

The violinist has been playing the past two hours.

Question ID : 630680777706
Status : Answered
Chosen Option : D

S S
s (§+1)(5+2)

Ans X A.K=6

the system is stable for:

" B.0<K<6
X C.K<6
X D.K>6

Q.23 For a unity feedback system with the open-loop transfer function G(s) =

Question ID : 630680146553
Status : Answered
Chosen Option : C

Q.24 The characteristic equation of J-K flip-flop is similar to
Ans X A.D

& B.SR
/K C.ogated T
XD.T

flip-flop.

Question ID : 630680103586
Status : Answered
Chosen Option : D

Q.25 {3 I A A5 IRGHAT Y FHIRAT frar?
Ans X' A §aR

X B. TTEwEl
o C. 3D
& D. 3pR

Question ID : 630680777738
Status : Not Answered
Chosen Option : --

Q.26 The Kaveri River flows through which states of India?
Ans X A. Tamil Nadu and Andhra Pradesh

/< B. Kerala and Andhra Pradesh
X C. Telangana and Karnataka
" D. Karnataka and Tamil Nadu

Question ID : 630680777733
Status : Answered
Chosen Option : D
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Q.27 Which of the following is true for PROM?

< D. Has fixed OR array and fixed AND array

Ans X A.Has programmable OR array and programmable AND array
" B. Has fixed AND array and programmable OR array
X C. Has fixed OR array and programmable AND array

Question ID : 630680132925
Status : Answered
Chosen Option : D

TR & 916 ITHT 3d fha 82
Ans o A 56

< B.86
X C.89
X D.59

Q.28 TP FeAaret AU 11 Ut A 86 T TG 8 oI IUF 3a # 3 #Y g S 71 1Y

Question ID : 630680748266
Status : Answered
Chosen Option : A

Section : Section B

Ans X A.0.0012 mA
< B.0.01 mA
2 C.0.042 mA
& D. 0.0048 mA

Q.1 For a transistor,lg = 20pA; Ic = 2mA and § = 80.Calculate Icgo.

Question ID : 630680161717
Status : Answered
Chosen Option : D

AP IS H T T8 PR § owd F
Ans X A Trior 8 B A aR 3R
o B. T a1 ¥ A
X C. TR @ A FTW
X D. BRI Tepiat § HriRd

Q.2 2 5Fad 2023 B, fAweht 3= <UTaTeY A fowll TWPR &1 37 Ta3msdl (HIv) uifrfed
safeRTal Y gu Wer R Rifren STaR giifa o o1 fAdw fiar g, &t TR

Question ID : 630680777725
Status : Answered
Chosen Option : A

Q.3 Pick the word that is wrongly spelt.
Ans X A. Conceive

/< B.Believe
# C. Acheive
X D. Deceive

Question ID : 630680777716
Status : Answered
Chosen Option: C
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Q.4

Ans

Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

All lions are tigers.
Some tigers are cats.
No cat is a panther.

Conclusions:
(I) Some lions are cats.
() No tiger is a panther.

< A. Only conclusion | follows
#< B. Both conclusions | and Il follow
#< C. Only conclusion Il follows

+" D. Neither conclusion | nor Il follows

Question ID : 630680729649
Status : Answered
Chosen Option : D

Q.5

Ans

Study the given circuit and find the value of resistance (R).

AWV B—
R Xi=10Q

M
SA

"z

X A 120
X B.260Q
& C.240
X D.30

Question ID : 630680117070
Status : Answered
Chosen Option: C

Q.6
Ans

Maxterms and Minterms are of each other.

«" A. complements
X B.nibble

< C. numbers

/< D. addition

Question ID : 630680176333
Status : Answered
Chosen Option : A
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Q.7 A two-port network is said to be symmetrical and reciprocal if:

Ans X A Zyy=hly and hya-hyy
X B |[AD—-BC|=1
¢ C Yu=Ynand Yio-Yn
XD Zn=Zpand Zpn¥ Zn

Question ID : 630680146530
Status : Answered
Chosen Option : C

Q38 In a lossless medium, H=-0.1 cos (ot z) a;+ 0.5 sin (ot-z) a,A/m

with p, = 1 and n= 60I1. Calculate ®.

Ans

¥ A 1.5 X108 rad/s
X B. 0.15 X 108 rad/s

X c 1.5% 10° rad/s

X D. 15 X 10% rad/s

Question ID : 63068075805

Not Attempted and
Marked For Review

Chosen Option : -

Status :

Q.9 F is the wife of T. U is the husband of I. T is the brother of I. N is the sister of | and T.
How is F related to N?

Ans X A. Sister's daughter
4" B. Brother's wife
X C. Husband's sister
/5 D. Mother's sister

Question ID : 630680467719
Status : Answered
Chosen Option : B

Q.10 Complete the sentence with the appropriate word.

Rashmi and her friends could not go out
Ans X A. despite

it was raining.

X B. nevertheless

" C. for
< D.and

Question ID : 630680777707

Not Attempted and

Status : Marked For Review

Chosen Option : --
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QM Which of the following statements for the complex exponential signal
x(n) = o% 1"+ ®) js NOT true?
Ans X A. For|o|=1,the real and imaginary parts of complex exponential sequence are
sinusoidal.
«# B. For | 0| >1, the amplitude of the sinusoidal sequences decreases exponentially.

< C.For|o|>1, the amplitude of the sinusoidal sequences increases exponentially.

< D. For | 0| <1, the amplitude of the sinusoidal sequences decays exponentially.

Question ID : 630680203466

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q12 1) the given circuit, the Zener diode present has Zener voltage as 6.5V and
Zener resistance as 90Q. What would be the range of output voltage?

1500

MW o

Vs(12V-20v) Vo

Ans X A.6.835Vt07.28V
o B.6.811V1t07.26V
K C.6.801Vto7.24V
X D.6.842Vto7.25V

Question ID : 630680119956

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.13 When a signal f (t) = 12t3 + 10t2 + 5t - 1 is multiplied with an impulse signal of time
delay 5 units and then integrated over a time period from -~ to « the value obtained
will be

Ans X A 1776
o B. 1774
X C.1773
% D. 1750

Question ID : 630680211458
Status : Not Answered
Chosen Option : --

Q.14 When a processor can fetch an instruction on every cycle, then what is the pipeline
called?

Ans " A. Fully pipelined
75 B. Super pipeline
#< C. Long pipeline
25 D. Deep pipelined

Question ID : 630680132893
Status : Not Answered
Chosen Option : --
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Q15 T AR A 3 RGY T I TR I | TP W I 20% FT ATH AT 3R gIR TR 3 20%
P I S| STPT Ho A1 T F1HA Fiar=ra g1 FITg|

Ans X A 2% dYH
7 B.3% g
o C. 4% g1
X D.5% dmY

Question ID : 630680111598
Status : Answered
Chosen Option: C

Q.16
A 100-Q resistor and a 10-uF capacitor are connected in parallel. The network has a
unit step current. Under the steady-state condition, the total current flows through:

Ans X A only the capacitor
/5 B. neither the resistor nor the capacitor
" C. only the resistor

< D. both the capacitor and the resistor

Question ID : 630680117316
Status : Answered
Chosen Option: C

Q.17 The average conversion time of an n bit successive approximation type A to D
converter is 32 micro seconds for a 2 MHz clock. At 3 MHz, what will be the average
conversion time?

Ans X A.10.66 micro seconds
#< B. 96 micro seconds
25 C. 48 micro seconds
¥ D. 21.33 micro seconds

Question ID : 630680132883
Status : Answered
Chosen Option : D

Q.18 Consider a super-heterodyne receiver working in the frequency range of 88MHz-108
MHz. The intermediate frequency (in MHz) that can be used so that image frequency
problem can be avoided is atleast:

Ans X A.5MHz
X B. not possible to be determined till local oscillator frequency is not known
X C.20 MHz
« D. 10 MHz

Question ID : 63068063905
Status : Answered
Chosen Option : B

Q.19 Ta$ & U, Telber (WIS A TS i
Ans X A S

& B. I

X c.ua

X D.d+

Question ID : 630680777741
Status : Not Answered
Chosen Option : --
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Q.20 If both the resistances R1 and R2 are equal in an astable multivibrator, what would be
the time period of the output waveform generated?

Ans X A 2.079RC
X B.0.693RC
& C.1.38RC
X D.0

Question ID : 630680117008
Status : Answered
Chosen Option: C

Q.21 If nis the 2’s complement of binary number (m), then which equation is satisfied?
Ans @ A n=m+1

X Bn=m
XCn=m-1
X' D.n=m

Question ID : 630680103529
Status : Answered
Chosen Option : A

Q.22 YReg AT, O Te Wi arem fa=me AsT (Greater One-Horned Rhinoceros) ¥t g1 SraT
2, 91 U A 5 yRd I & ran S 32

Ans . A 3H
X B.IW U
X C. ISR
2% D. 9 U™

Question ID : 630680777734
Status : Answered
Chosen Option : A

Q 1 2 3 4
. Th test val the fractions —, —, — and — 1
; € greatest vanic among € Iractions 5, 9, 14 a1 19 15
3
A 4
n XA —
s 19
xe L
5
xc 2
14
o2
9

Question ID : 630680530450
Status : Answered
Chosen Option : D
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Q.24 Consider a 16-point QAM signal scheme. The minimum bandwidth needed to transmit
data at the rate of 90 Mbits per second is:

Ans X A.90 MHz
o B. 45 MHz
X C.22.5MHz
2 D. 180 MHz

Question ID : 630680146408
Status : Answered
Chosen Option : B

Q.25 1867 B T ¥ T il TuTe A faerar gafdarg ok sifay warar S arfife ok
AHIRIE GURT TR & Fid fFan sigia & yge st § § T 39 472

Ans X A 3R, SR
& B. TH.SI. IS
X C. HeTa i
X D. WA SR

Question ID : 630680777730
Status : Answered
Chosen Option : B

Q.26 The Q factor of an RL series circuit is given by:

Ans
xa R
L

Question ID : 630680146534
Status : Answered
Chosen Option : D

Q.27 The open loop pole-zero plot of a system is shown in the given figure.

jw

o]

The total number of root-locus branches and the number of branches terminating at infinity are and

respectively.
Ans X A.five, one

X B. two, three
4 C. three, one

5 D. two, two

Question ID : 630680139561
Status : Not Answered
Chosen Option : --
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Q.28 How many selection lines are required for 32 x 1 MUX ?
Ans X A4

X B.8
X cC.2
& D.5

Question ID : 630680103580
Status : Answered
Chosen Option : D

Section : Section C

Q.1 have unidirectional flow of energy.

Ans  * A. Harmonic oscillators
/< B. Relaxation oscillators
#< C. Both harmonic and relaxation oscillators

& D. Neither harmonic nor relaxation oscillators

Question ID : 630680119967
Status : Not Answered
Chosen Option : --

Q.2 The value of: 5% + V72 - 5V100 - 6 =
Ans A -24

X B.-25
X C.-29
X D.-27

Question ID : 630680748256
Status : Not Answered
Chosen Option : --

Q.3 7g yy Fufafa = w snutfa §:
MUG HAS FIN POT
1T W U8 Aeg & JIAY &R 3 I A T8d TS & ga¥ 3R P o fpa 3R §1a 82
Ans AT
X B.6
X cs
X D.5

Question ID : 630680729930
Status : Answered
Chosen Option : A
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Q.4 Complete the sentence with the appropriate article.

Dr Pandian worked as University Professor for five years.
Ans A a

/5 B. no article
X C.the
X D.an

Question ID : 630680777703
Status : Answered
Chosen Option : A

Q5 1fLaplace transform of f{t) is F(s) = (szf pe then what would be the value of
tlim f(t)?

Ans X A.1
X B.O
X C.=

" D. between -1 and 1

Question ID : 630680203446
Status : Answered
Chosen Option : A

Q.6 1 i : 2
For _ rate repetition code, generator matrix can be written as:

Ans X A. aunit square matrix of 5x 5

XBG =(11111]
& C.G=[11111]

11111
10000
|o1000

X0 G=l50100
00010

00001

Question ID : 63068064086

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.7 For a 4 bit half flash ADC, how many comparators are required?
Ans X A4

X B.32
X C.16
& D.8

Question ID : 630680182156
Status : Answered
Chosen Option : B
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P T UG 82
Ans X A ISR WA ST oM
& B. FISld! Wy sftar arer
X C. ISR SR HRA IS
X D. GBI Wy &1 e
Question ID : 630680777723
Status : Answered
Chosen Option : B
Q.9 longest river of southern India is also called as Dakshin Ganga.
Ans X A. Krishna River
< B. Tungabhadra River
25 C. Periyar River
4" D. Godavari River
Question ID : 630680777732
Status : Answered
Chosen Option : D
Q.10

A 100-Q resistor, a 10-pF capacitor and a 1-mH inductor are connected in parallel. The

network has a unit step current. Under the steady-state condition, the total current

flows through:

Ans

Ans X A. both the capacitor and the resistor
X B. only the capacitor
«# C. only the inductor
25 D. only the resistor
Question ID : 630680117317
. Not Attempted and
Status - Marked For Review
Chosen Option : --
Q.11 While calculating the impedance parameters, we need to:

" A. create open circuit either at input port or output port
/< B. create open circuit at output and short circuit at input port
/5 C. create short circuit either at input port or output port

/< D. create open circuit at input and short circuit at output port

Question ID : 630680146529
Status : Answered
Chosen Option : A

https://cdn.digialm.com/per/g01/pub/1139/touchstone/AssessmentQPHTMLMode1/LMRCL241/LMRCL241S5D713/17158424678647977/2022...
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Q.12 The state transition diagram with 3 inputs X.Y.Z and 3 states A.B,C for a finite state machine is given. If the present
state is B, which table correctly represents the state transition table for state B?
Ane X Y z Next
State
0 0 0 A
0 0 1 C
) 0 1 0 B
KAl g 1 1 B
1 0 0 AB
1 0 1 A
1 1 0 B
1 1 1 B
X X Z Next
State
0 0 0 A
0 0 1
0 1 0 B
Vol o 1 1 B
1 0 0 A
1 0 1 C
1 1 0 B
1 1 1 B
X Y Z Next
State
0 0 0 A
0 0 1
0 1 0 B
xXcC 0 1 1 B
1 0 0 A
1 0 1 C
1 1 0 C.A
1 1 1 B
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X Y z Next

State
0 0 0 A
0 0 1 C
0 1 0 B
XD 0 1 1 B
1 0 0 A
1 0 1 C
1 1 0 B

1 1 1 AB
Question ID : 630680132916
Stts: ot Atempted s
Chosen Option : --
Q13 1946 B YRA Bt SANH TSR BT TS Ad(-aiied Sfaur waut o fFar wa

orad wur W= Y widaat uftug & Iurenes sagard A3 & & 1S A
Ans X' A 15 3

2 B. 10 3FKR
< C.257dR
o D. 2 RdR

Question ID : 630680777727
Status : Answered
Chosen Option : B

Q14 What is the unit of V. D? (Consider that D is electric flux density.)
Ans A Coulomb/meterd
< B. Coulomb-metre

X C. Coulomb/meter?
/< D. Coulomb

Question ID : 63068063854
Status : Answered
Chosen Option : A

Q.15 How many memory cycles does the instruction LDA 2000 H take in 8085
microprocessor of 5 MHz clock?

Ans X A.0.8 micro second
¥ B. 2.6 micro seconds
25 C. 1.4 micro seconds

#5 D. 2 micro seconds

Question ID : 630680182162
Status : Answered
Chosen Option : A
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Q.16 Box 1 contains 1 white and 499 red balls. Box 2 contains 1 red and 499 white balls. A
ball is picked from a randomly selected box with equal probability. If the ball is white,
then the probability that it came from box 1 is:

Ans A 0.002
X B.05
< C.0.999
/< D.0.998

Question ID : 630680146392
Status : Not Answered
Chosen Option : --

Q17 \When Vs of a MOSFET with VT = 400 mV making in saturation is 900 mV, the
drain current is 1 mA. If the channel width modulation is neglected and saturation
is assumed, what will be the value of Ip for Vgs = 1400 mV?

Ans X A.3mA
X B.5mA
X C.2mA
o D.4mA

Question ID : 630680214306
Status : Answered
Chosen Option : D

Q.18
Find the correct 2-port network parameter suitable for the analysis of a parallel-series
connection. This means the input ports of the two networks are connected in parallel
and the output ports of the two networks are connected in series.
Ans A. g parameters
/5 B.ABCD parameters
X C. h parameters

/5 D. Inverse ABCD parameters

Question ID : 630680117320
Status : Answered
Chosen Option : A

Q.19 Complete the sentence with the appropriate word.

Let us about the dispute.
Ans Al talk

X B. express
< C. discourse
< D. consider

Question ID : 630680777708
Status : Answered
Chosen Option : A
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of pairs given below. Both pairs follow the same pattern.

LJN : OHK
RRO : UPL

Ans X A OHG:RFC
X B.QHL:TFH
& C.QFI: TDF
X D.NKJ : QHG

Q.20 Select the pair that follows the same pattern as the one followed by the two sets

Question ID : 630680585694
Status : Answered
Chosen Option : C

Q.21 Which of the following transistor configurations gives more voltage gain?
Ans X A. Common collector configuration

/5 B. Common emitter configuration
X C. Common transmitter configuration

«” D. Common base configuration

Question ID : 630680214301
Status : Answered
Chosen Option : D

Ju

splane =l
/_K\ LT3 a
=3 =2

X
=1

-4

- =

Ans X A. The root-locus plot is valid and has two asymptotes.
X B. The root-locus plot is invalid.
«# C. The root-locus plot is valid and has no asymptotes.

25 D. The root-locus plot is valid and has two breakaway points.

Q.22 yWhich of the following statements is correct for the given root-locus plot?

Question ID : 630680139558
Status : Answered
Chosen Option: C
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Q.23 In the given 3-phase balanced star connected load, calculate the power rating of

each resistor.

AN\
150
400 V
400 v
150) 1500
—
400V
CTE 4

Ans X A 322667 W
X B.1876.27 W
7 C.3286.67W
o D. 3555.56 W

Question ID : 630680117099
Status : Answered
Chosen Option: C

Q.24 Using the linearity property, what should be the Laplace transform of the function
x(t) = 24e-2u(t) + 12e*u(t) + 6e*u(t), where u(t) is the unit step function?

Ans 1 24 12 6
XA E'((s+z)+ T +(s+l])

B 2"'( + B 3
Y5 2 \6+2 [5—4]+(s+1})

12 6 3
X = (5t arat =)

1(24 12 6)

Kb *leaterot oD

Question ID : 630680203442
Status : Answered
Chosen Option : B

Q.25 wﬁsﬁ%mwﬁnﬂs%qmﬁzs%aﬁq@ﬁ?ﬁ% dt ! A § 40% F)
Bt 81 ISG (revenue) TR S TUTT a1 g2
Ans g A 25% @I B
X B.25% 31 gfs
X C.15% B qfG
X D. 15% Bt HHI

Question ID : 630680731533
Status : Answered
Chosen Option : A
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Ans

Q.26 FIWHTAA TR SATIRT 3P Iuafadt & fg ulirs 1
PI-91 APy SRIad & ufafafad 78t a2

X A, Od gdyd

X B. fafu o
o C. e

X D. TR o

Question ID : 630680777742
Status : Answered
Chosen Option: C

Ans

Q.27 Which of the following is true for a programmable logic array?

" A. Has programmable AND array and programmable OR array
< B. Has fixed AND array and programmable OR array

/< C. Has fixed OR array and programmable AND array

2< D. Has fixed AND array and fixed OR array

Question ID : 630680132924
Status : Answered
Chosen Option : A

Ans

Q.28 A wide band pass filter is given with lower frequency as 500 Hz and higher frequency

as 1.5 kHz. What would be the Q value of the given filter?
«" A.0.86

< B.0.38
< C.0.56
X D.0.23

Question ID : 630680117000
Status : Answered
Chosen Option : A

cdn.digialm.com/per/g01/pub/1139/touchstone/AssessmentQPHTMLMode 1/LMRCL241/LMRCL241S5D713/1715842467864...
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Q1

Ans

ILit) L
[-p_JWSF“E___:__________]
Wit) C == vc b R=1,\_
Input - L=2H
c=aF
dave
For the electric circuit shown d‘i;‘ =
dt
1 0 -::(t)] 0
2 ][VL % 0_5] V(o)
3 pvew
3 ? c(t ] 0
X B. : [1L(t} i [_U_S]V(t)
-1 1] ( }
3 o |[i(t 0
A ol Ve() + [a_s]V(tJ
_2 m
(-1 1] ©
2 3| [Ve(t ] 0
M [YL(t) " [G.S]H(t)

Question ID :
Status :

630680110780
Not Answered

Chosen Option : --

Ans

ratios of the given systems, then:

ssters3
epstem 3

XA, <0,0,=0 (<0
X >0,6<0, &<0
Xc >0 8,=0 >0
v0.0,>0,8,=0, {3<0

Q.2 Consider the polar plots of three systems in the GH(jw) plane shown in the given figure. If {; ,{,,{; are the damping

Question ID :
Status :

Chosen Option :

630680139583

Not Attempted and
Marked For Review
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Q.3  In the given figure, if capacitance between P and Q is 10 pF, then what will be the value of C?

c
1L

s J— J-.gpp

BuF =]
GuF== T 1L

I
4puF

Ilfslf

2uF :r == 2uF

Ans X A 20 pF
X B.10 pF
X C.15uF
o D. 30 uF

Question ID : 630680117090
Status : Answered
Chosen Option : D

Q.4 Rearrange the sentences to form a coherent paragraph.

A. The Gutenberg Press changed that forever.

B. Before its advent, books were handwritten by scribes, a laborious and time-
consuming process that limited their availability to the privileged few.

C. The Gutenberg Press, invented by Johannes Gutenberg in the mid-15th century,
was a transformative moment in human history, marking a revolutionary shift in the
production and dissemination of knowledge.

D. This printing revolution facilitated the spread of knowledge and ideas,
democratizing access to information and ultimately shaping the course of history.
E. By using movable type and a mechanical press, Gutenberg was able to mass-
produce books, making them more affordable and accessible.

Ans X A.ABED,C
& B.C,B,A E,D
X C.D,E,AC,B
X D.C,D,AEB

Question ID : 630680777710
Status : Not Answered
Chosen Option : --

Q.5 fEfifEa ¥ @ $19-91 AP dig aRgear 1 Udi® 81 872
Ans XA KGEC

o B. Uf0A Txad
X C.oUd 1 pd

X D. 35 Uefg

Question ID : 630680777737
Status : Answered
Chosen Option: C

Q.6 gritua & FIgel anT 7fRae o1 fHufor frad gRT wvarar mar a2
Ans X A SMEWEl

X B. 3HR

X C. 3o

o D. TR

Question ID : 630680777739
Status : Not Answered
Chosen Option : --
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s+z1

Q7 Consider the transfer function of the compensator as Ge(s) = o T

condition for the compensator to act as phase lead network is:
Ans X A zi>pi

X B.pi=0

o C.zi<pi

X D. zi= pi

Question ID : 630680146548
Status : Answered
Chosen Option : C

a8 The z transform and its ROC of a system are given as H(z) = (Z_ZOIG) and |z| > 0.6,
respectively. Then what would be the possible impulse response of the given
system?

Ans .2 A (0.6)"uln]

# B. (0.6)"u[-n—1]

& C.—(0.6)"u[-n—1]

< D.—(0.6)"u[n]

Question ID : 630680203438
Status : Answered
Chosen Option : A

Q.9 In a certain code language, ‘PEND’ is coded as ‘5761’ and ‘DENT’ is coded as ‘7356’.
What is the code for ‘T’ in the given code language?

Ans A3
X B.6
X C.5
X D7

Question ID : 630680729895
Status : Answered
Chosen Option : A

Q10 Natch the following signals with their energies.

Group A Group B

1) Xit)=et u(t) A 1.0671
& B 17

2)xm=(3) u@

3) x(n) = cos (%) C 0.033]

4) X(t)=COS2nt(u(t)-u(t+2)) D =

Ans X A.1-B,2-A, 3-D, 4-C
o B.1-C, 2-A, 3-D, 4-B
X C.1-C,2-D, 3-A, 4-B
2 D.1-A 2-B,3-C, 4D

Question ID : 630680203458
Status : Answered
Chosen Option : B
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Q.11 Given below is a sentence with a word in bold. Identify the antonym of that word in the
context of the sentence.

The incessant sound of the drumbeats made it difficult for the students to write their
exam.

Ans X A.ongoing
Z5 B. continuous
«* C. occasional

< D. permanent

Question ID : 630680777714
Status : Answered
Chosen Option: C

Q.12 A, B 3R C A U& Uqu Y {$aTI IT11 HHM: 6 AL, 12 HE 3R 14 W & forg
v@aﬁ%ﬁluﬁmmum: 5:4:7 % U | §, A I Faifrd a1 &1 3qura
I

Ans A 5:2:3
X B.2:3:5
K C.2:3:7
X D.1:5:3

Question ID : 630680748179
Status : Answered
Chosen Option : A

Q.13 Determine the period of oscillation for an astable multivibrator with component values
R1=2k, R2= 20k, C1=0.01uF, C2 = 0.05pF.

Ans A 07 ms
X B.0.7 s
/K C.1.02ms
% D.1.02 s

Question ID : 630680118582
Status : Not Answered
Chosen Option : --

Q.14 What is the percentage resolution in a 5-bit DAC?
Ans XA 6.25%

X B. 3.125%

X C. 20%

o' D. 3.225%

Question ID : 630680132890
Status : Answered
Chosen Option : B
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Q.15 S 2023 # Af¥eATg YR gRT IR $1 T8 TTat UiyeTg FUwr aiern &1 wufie agy
T U1?

Ans X A HAfgasit & ASHIR & a¥RT 6 Fgrar -1
o B. XA & GRM Afgemsit ot JRefm YA s
X C. grduie uRag darsii § guR BT
X D. 3t ARPT & forg e ufkag Sudsy BT

Question ID : 630680777726

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.16 R} TWAT BT 20%, 570 P 20% A 150 T 3Afirep g1 TBAT J14 BIfOTTI
Ans o A 1320

X B. 1170
X C. 1420
X D. 1370

Question ID : 630680748278
Status : Answered
Chosen Option : A

Q.17 Find the correct 2-port network parameter suitable for the analysis of a series—parallel
connection. This means the input ports of the two networks are connected in series
and the output ports of the two networks are connected in parallel.

Ans X A.ABCD parameters
< B.Y parameters
" C. h parameters

X D. z parameters

Question ID : 630680117319
Status : Answered
Chosen Option : C

cdn.digialm.com/per/g01/pub/1139/touchstone/AssessmentQPHTMLMode 1/LMRCL241/LMRCL241S5D713/1715842467864...

Q.18 An amplifier has an open loop gain of 100, the lower cut-off frequency as 100Hz and
upper cut-off frequency as 100kHz. A feedback network with 0.99 feedback factor is
connected to the amplifier. Determine the lower and upper cut-off frequency with
feedback.

Ans X A. 100 Hz and 100 KHz
«” B. 1 Hz and 10 Mhz
< C.1MHz and 10 KHz
< D. 1KHz and 100 Hz

Question ID : 630680118587
Status : Answered
Chosen Option : B
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Q.19

Ans

What sequence does this state diagram of the Moore machine decode?

< A. 11 and 00 transitions

< B. 11 and 01 transitions
" C. 10 and 01 transitions
25 D. 10 and 11 transitions

Question ID : 630680182169

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Ans

Q.20 YR § Yo &7 5w UeR &t Fwufa & g s s g2

X A, 3eTeT o

& B. TG

X C. IR gt

X D. Surhicsdig aufa

Question ID : 630680777735
Status : Answered
Chosen Option : B

Q.21

Ans

If a pole is added at origin to the below given transfer function, the polar plot

crosses the negative real axis at w equals :

1
G(S) = S(1 +5T,)(1 +5T2)

4 B
o A s
X8 JT,T,

xc T,T,
T
TiTs

X D.

Question ID : 630680110790
Status : Answered
Chosen Option : A
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Q.22 Identify all pass filters from the given circuits and select the correct option.

Lo vl
I
A) R (B)

Vi

<_

— 5
¢ <
__”_
— 5s—

|
© ' (D)
Ans X A.D

X B.B

& C.A

& D.C

Question ID : 630680117111
Status : Answered
Chosen Option : D

Q.23 A full bridge rectifier circuit has an input frequency of 100Hz. Calculate its output
frequency:

Ans o A 200 Hz
< B.100 Hz
< C.50 Hz
X D.25Hz

Question ID : 630680118569
Status : Answered
Chosen Option : B

Q.24 Which of the following flip-flops is basically used for shift registers?
Ans X A JK

X BT
X C.SR
o D.D

Question ID : 630680103592
Status : Answered
Chosen Option : D
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Q.25 3fsi quiigery W smuTld, FafifEd IR sigR-agg § @ 99 sieR-awg v A
TP T T § 3R 3 UPR TP THE I91d & | 98 B T 3E&R-T9E 8, Wl U Igg I
Taftra T8 82 (Ale: ST 3IeR-TYE, 3eR-Tg ¥ So-1aR] 3 T=T a1 IqH 3Pt
fRufa wr smenfia A8t 21)

Ans X A PTO

«" B.NRL
X C.LPK
X D.RVQ

Question ID : 630680508314
Status : Answered
Chosen Option : B

Q.26 If early voltage V5 = 100V, then JFET output resistance y, when operating in pinch-off
at current of 1mA is:

Ans X A. 10K

X B.1M
o C. 100K

X D.1K

Question ID : 630680161718
Status : Answered
Chosen Option : C

Q27 yWhat GATE does the given architecture represent?
+Vop

Input A —e | ;01

Input B

Q2
J ? Output
aﬂa

Ans X A.OR
X B.NAND
2 C.AND
& D. NOR

Question ID : 630680132910
Status : Answered
Chosen Option : D
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Q.28 A 60 m long lossless transmission line operating at 4MHz having
Z.= 75 Q is transmitted with a load Z; = 80+ j60 Q. Find standing

wave ratio (SWR).
Ans o A.2.125
X B.252
X C.4.01

X D.

Question ID : 63068075883
Status : Not Answered
Chosen Option : --

Section : Section E

Q.1 YRT W I TR BT T 19 AT APt RITIAT 1950 W 37 B 3rfoqawyr Y giemn 3w
faor ot Iva & forg it g e
Ans X A URd o §% (RBI)
X B. fa garem
& C. TISHT SN

X D. URdig ufayfa ud fafma a1 (SEB)

Question ID : 630680777728
Status : Answered
Chosen Option: C

Q.2 Assume that in an n-type semiconductor at T = 300 K, the electron concentration

varies linearly from 1 x 10'8 to 7 x 1077 ¢cm™ over a distance of 0.1 cm. What is the
magnitude of diffusion current density if the electron diffusion coefficient is D, = 22.5

cm?/s?

Ans  _# A 10.8 Alcm?
< B.5.4 Alcm?
7< C. 8.5 Alcm?
X D.13.2 Alcm?

Question ID : 630680214295
Status : Answered
Chosen Option : A

Q.3 were i AP artor AR TRE SfUfrad (MGNREGA)  Siafa artor e
TATAY, YR WRBR gIRT 1 318, 2024 | YU gAaH Toigd ufa arq feaw
SfRRgfera B TS|

Ans X A. 250
o B.374
% C. 300
X D. 400

Question ID : 630680777722
Status : Answered
Chosen Option : B
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Q4 f5d WIRS B GIH BI AY a1 HET SIaT 82
Ans X A IRHMR

< B. 9mge do

o C. dldl BT HHRT

2 D. T T

Question ID : 630680777740
Status : Not Answered
Chosen Option : --

Q.5 Select the correct idiom which means the following:

To talk about something for a long time without coming to the main point
Ans X A. blow hot and cold

" B. beat about the bush
/< C. pass the buck
/X D. beat a dead horse

Question ID : 630680777712
Status : Not Answered
Chosen Option : --

Q.6 The state transition diagram with 3 inputs X,Y,Z and 3 states A,B,C for a finite state machine is given. Which of the
following statements is correct?

Ans X A. Transitions from all the states are ambiguous.
#< B. Transitions from state A are ambiguously defined.
/X C. Transitions from state B are ambiguously defined.

«" D. Transitions from state C are ambiguously defined.

Question ID : 630680132918
Status : Not Answered
Chosen Option : --

Q.7 Which of the following statements is true?

Ans " A. Programmable logic device includes programmable logic array, programmable array
logic, programmable read only memory.

X B. Programmable logic device includes read only memory, programmable array logic,
random access memory.

/X C. Programmable logic device includes programmable logic array, programmable array
logic, read only memory.

< D. Programmable logic device includes read only memory, programmable logic array,
random access memory.

Question ID : 630680182178
Status : Answered
Chosen Option : A
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Q.8 The output of J-K flip-flop is for J=1 and K=1 with 50 kHz clock input.
Ans X A.a50 kHz square wave

/< B. constantly LOW
X C. constantly HIGH

o D. a 25 kHz square wave

Question ID : 630680103587
Status : Answered
Chosen Option : D

Q.9
Study the given circuit and find the equivalent inductance Legq.
it)
r4
4+ m (k=0.85)
k’/—_-\g
L] L
V(t) 12H 3H

L 4

Ans X A.1.267H
X B.252H
o C.2.08H
X D.48H

Question ID : 630680117115
Status : Answered
Chosen Option: C

Q.10 YR I &I FU F Iy H FRU @ 3R 399! faiwar I Sieraryg 8 Ydia
TATP &, S TTHIT 200,000 T fPearHic b dpa &) HaX HIaT &

Ans g A TSR
X B.axd
X C.uu§
& D. ToRId

Question ID : 630680777736
Status : Answered
Chosen Option : A

Q.11 The number of free electrons passing through the filament of an electric lamp in 2
hours, when the current through filament is 0.16 A will be:

Ans XA 3x10%2
X B.7.2x10°
o C.7.2x 10?1
X D.2x10%

Question ID : 630680117081
Status : Answered
Chosen Option: C
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Q12 A
Ans

CMOS inverter needs:
" A. one P channel MOSFET and one N channel MOSFET

#< B. two P channel MOSFET and two N channel MOSFET
X C. two P channel MOSFET and one N channel MOSFET
25 D. one P channel MOSFET and two N channel MOSFETMOSFETS

Question ID : 630680121086
Status : Answered
Chosen Option : A

Q

Ans

"® What will be the equivalent inductance for the given circuit?

J
? 2H

0000

Wit} g 3H 4H

X A 266H

X B.1.1H
o C.0.72H

X D.7H

Question ID : 630680117114
Status : Answered
Chosen Option: C

Ans

that:
< A. the magnitude is 1 dB and phase is 180°

/5 B. the magnitude is —20 dB and phase is -180°
X C. the magnitude is 20 dB and phase is —180°

+" D. the magnitude is 0 dB and phase is 180°

Q.14 If the polar plot of a control system passes through (-1, j0) point, then this implies

Question ID : 630680139582
Status : Answered
Chosen Option: C

Ans

A4
X B.3
X C.5
X D.8

Q.15 %5400 WR 5% AT =Tel &3 A fopait sraf¥r (qut H) & 21080 BT AR sy FA@AT?

Question ID : 630680745719
Status : Answered
Chosen Option : A
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Q.16 Boolean expression/function is represented by
Ans X A. minterm only

< B. SOP only
X C. POS only

4" D. canonical form

Question ID : 630680103543
Status : Answered
Chosen Option : D

Q.17 For a unity feedback system with the open-loop minimum-phase system

K

transfer function G(s) = s(5+1)(5+2)

the valid breakaway point for the root

locus is at:
Ans X A.-1577
o B.-0.422
X C.+1.577
X D.+0.422

Question ID : 630680146550
Status : Answered
Chosen Option : B

%1% Which of the given systems are linear systems?

. :—i’ + Sty(t) = 8t*x(t)

= 1
2.y =4x() + 7

3.y(0) = [7, 3x(x)ds

Ans X A.1and?2 are linear
< B.2and 3 are linear
«” C.1and 3 are linear

5 D. all of them are linear

Question ID : 630680203435
Status : Answered
Chosen Option : B

Q.19

Consider the transfer function of the compensator as Gc(s) = :+Zi

The

+pi’
condition for the compensator to act as phase lag network is:
Ans X A zi= pi
X B.zi<pi
X C.pi=0
o D. zi> pi

Question ID : 630680146547
Status : Answered
Chosen Option : D
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Q.20 In relaxation oscillators the frequency of oscillations can be inferred by
Ans " A. Charging and discharging of capacitors

/< B. discharging of capacitors
#X C. charging of capacitors
X D. Feedback circuit

Question ID : 630680119966
Status : Not Answered
Chosen Option : --

Q.21 fufafad Jen-gml §, ugdl 98 W $© TR Iifharng $Rd gast Wei ura o
STt 21 X 3R Y & M R S LI ufereutiid $ s aifee arfe : & a1 ik $t
& =13 BT U 1 & aTs 3R P G F Yo & A gl §e?
(Fe: TEmsi @ 3P gew 3wl # wiea [ farm, qof Gemsit w wfear 9t st @fgel
IaTeRund 13 — AT 13 W O TiFATg S 13 W SSHIESTHIAYN SA1 311 31 S
bl §1 T=IT 13 DI 1 3R 3 & Wied B 3R T 1 3R 3 W nforchy wfehamd 31 Ft
AR TE 81)
X:344::12:Y
Ans X A.X=6,Y=1331
X B.X=8,Y=1730
X C.X=7,Y=1728

W D.X=7,Y=1729

Question ID : 630680515883
Status : Answered
Chosen Option : D

Q.22 Complete the sentence with the appropriate article.

Vande Bharat Express is one of the fastest trains in India.
Ans A The

/< B. No article
X C.An
X D.A

Question ID : 630680777702
Status : Answered
Chosen Option : A

Q.23 Uw AEfHd ae® 2.5 km B gt 4 e 10 A A 79 Hvar 31 S I/ 6 km B G
T B | I fpam v e

Ans 2 A 10 fiTC
¥ B.ofiFe
X c.12fime
X D.11fie

Question ID : 630680751093
Status : Answered
Chosen Option : A
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Q.24 Find the collector current in all six transistors assuming Vgg = 0.7 V, p = o.

+10V

Ql Q;

o] .
Ry =5kil
R, = 20k}
+5V
Ry = 36k}

Qn Q\

=10V
Ans  # A 0.93 mA
& B.9.3pA
X C.9.3mA
X D.0.9mA

Question ID : 630680108747
Status : Not Answered
Chosen Option : --

Q.25 Which of the following is the working principle of a clamper circuit?
Ans  # A It works on the principle that the charging time of the capacitor is very small as
compared to the discharging time.
/< B. It works on the principle that the charging time of the capacitor is double as
compared to the discharging time.
< C. It works on the principle that the charging time of the capacitor is large as compared
to the discharging time.
#< D. It works on the principle that the charging time of the capacitor is half as compared to
the discharging time.

Question ID : 630680119943
Status : Answered
Chosen Option : A

1

; . : —
AT — intersects which of the following phase quadrants?

Q.26 The polar plot of the transfer fanction 6 (s) =
Ans  # A 180° and 270°

X B.-90° and -270°

X C.0°and -180°

2 D. 90° and -270°

Question ID : 630680139581
Status : Answered
Chosen Option : B
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Q.27 Consider an angle modulated signal having frequency deviation Af = 75 KHz and
message signal bandwidth of 15 KHz. The bandwidth of angle modulated signal is:

Ans o A 180 KHz
< B. 30 KHz
% C.90KHz
X D. 150 KHz

Question ID : 630680146380
Status : Answered
Chosen Option : A

Q.28 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

All trees are plants.
Some trees are grasses.
Some grasses are herbs.

Conclusions:
(I) Some plants are grasses.
(I1) Some trees are herbs.

Ans X A. Only conclusion Il follows
" B. Only conclusion | follows
2< C. Both conclusions | and Il follow

25 D. Neither conclusion | nor Il follows

Question ID : 630680729647
Status : Answered
Chosen Option : B
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